Quantum Field Theory
Homework Set 2

Exercise 1: Spinors

Consider a Weyl spinor transforming in the representation (1/2,0) of the Lorentz group ¢y :

/
't = A"z

Wi (2') = Appp (A1),

where Ay, is the Lorentz transformation in the representation (1/2,0). We have omitted the spinor index « for
shortness.
Identify the representation of the Lorentz group the following term belongs to:

Ylaryy.

Consider now a pair of left Weyl spinors: 1}, 1% and assume they form a dublet ¥, of an additional Isospin
SU(2) symmetry (don’t confuse this SU(2) with the Lorentz Group, it’s an internal symmetry). In addition take
a single right Weyl spinor ¥ g which is a singlet of the SU(2) Isospin (¥, ¥y, are completely unrelated fields, they
v

are not obtained one from the other using ¢). Note that the doublet ¥, = ( e
L

) has two indices

a = 1,2 represents the Lorentz index

a
(Yr)a a = 1,2 represents the Isospin index

while ¢r has only the Lorentz 3 index, and each transformation acts separately on the two indices:

't = AF Y

Lorentz (Vp)a(2) = (ML) (Pr)3(A~"a)
(¥R)?(2') = (Ar) (¥r)° (A 1a"),

Isospin {  (V7)&(2') = U4 (¥L)b ()
(¥R)7 (") = (¥r)"(2).

e Identify the representation of Isospin and Lorentz group the following terms belong to:
UV, (W) T (o) P,
where we have suppressed the Lorentz indices and here @ = 7,0". Note that in the second term the Pauli

matrix is contracted with the Isospin indices while @ with the Lorentz ones.

Exercise 2: Yukawa coupling of the SM

Consider the following set of fields:

e an Isospin doublet of left spinors ¥, with U(1)-charge +1/6,
e an Isospin singlet right spinor ug with U(1)-charge +2/3,
e an Isospin singlet right spinor dg with U(1)-charge -1/3,

e an Isospin doublet of scalars ® with U(1)-charge +1/2,



which have transformation properties under Lorentz, Isospin and an additional U(1) summarized in the table:

Field Lorentz SU(2) U(1)
‘IJL AL\I’L U\IJL el%a\I/L
UR Arug UR ei%“uR
dr Ardg dr e i5%p
P P Ud 2P

e Show that, once we require the Lagrangian to be invariant under all the three symmetries and to contain
terms with dimension less than or equal to four, the allowed interactions between scalars and fermions are
restricted to only two terms (plus their hermitian conjugate). Find them. (We are interested only in terms
containing at least one scalar and one fermion).



